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For aach question from 1 fo 28, four cptions
Make your choice (1, 2, 3 or 4). Shade your answer on the Optical Answar

2

are given. One of them is the correct answer,

Sheet.

{56 marks)

1. Which statement is correct about yeast?

(1)
(2)
3
4

itis a type of bacteria.
it is used to make broad,
It can meke its own food.

it is not 3 microorganism.

2. Study the flowchart.

Materials

A

Does it absorb
water?

Yas

P

Does it aliow light
to pass through?

Yes

Y

Does it bend

easity?

Yes

No

No

A

Which material, A, 8, C or D, is most suitable to make part X of the sunglasses as

shown?
part X
(1) A
(2) B
3 C
4 D
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3. Study the life cycles of animals J and K.
Animal J - Animal K
egg / e0g \
adult - nymph \
pupa
Which two statements are trug?
A The larva of animal K eats a loL.
8 Animal J could be a grasshopper.
C  Animal K's young resembles its adult,
D Both life cycles of animals J and K begin with the egg stage.
(1} AandB
(2} AandD
(3) BandC
(4 CandD

4. Aneesa placed five identical green bean seeds each into four identical
containers, A, B, C and D. She placed the conlainers at different locations as
shown and watered the seeds daily for three days.

Container Location
A Garden
B Freezer
c Dark Cupboard
D On the kilchen lable

In which container(s) will the seeds germinate over the next few days?

(1) Bonly

(2) AandDonly
{3) BandConly
{4} A CandDonly

ACS {Junior) P5 Semesiral Assessment 2022
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4

The diagram shows the-seed dispersal paltems of plants A, Band C.

direction
of river
flow

dlrecﬁon
4T of wind

Key:
. Parent plant A D Young plant of A
* Parent plant B ?ﬁf Young plant of B
A Parent plant C A Young plantof C
Which of the foltowing characteristics do the fruits/seeds of planis A, B and C have?
Plant A Plant B Plant C
mn pod hooks wing-like structure
(2} fibrous husk pod hooks
{3) hooks wing-like structure fibrous husk
(4) wing-like structure fibrous husk pod

ACS (Junior} P5 Semestral Assessmenl 2022
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6. The diagram shows the cross-section of a flower and fruit from plant X,

flower of plant X

fruit of plant X

Which parts of the flower did the seed and fruit develop from?

M
2
&Y

@ |

7 The dlagram shows the
made at X.

- Which of the following statement(s) is/are trye? _

A
B
Cc
D

(1)
)
(3)
4

ACS {Junior) P5 Semestral Assessment 2022

Seed Fruit
P Q
5 P —
R S
S R

Eggs will not be released.
Fertilization can take place.

Sperms can enter the vagina.

The foetus will not be able to develop.

D only

B and C only

C and D only
A, Band Conly

More papers available at www.testpapersfree.com
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8. Study the family tree.

o

Xueling

om

male with double
eyelids

male with single eyelid

N

female with double
eyslids

Oe M &

femals with single
eyslids

Which is statement about Xueling is true?

(v
(2)
(3)
4

Her aunt has single eyelids.

Her father has double eyelids.
Her brother has single eyelids.
Her grandfather has double eyelids.

. The diagram shows the water cycle with processes A and B.

clouds

rain KN
sea
K/;
water vapour

Which statement about process A or B is correct?

(1)
(2
3
4

Water loses heat during process A.
Water gains heat during process B.
Process B takes place at a fixed temperature.
There is no change in the state of matter during process A

ACS {Junior) P5 Semesiral Assessment 2022
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10.  Sharig filled identical containers Q, R and S, with 50 ml of water each and

covered them with different lids as shown. He left the containers at the Science
lab and measured the volume of water left in each container after three hours.

lids

mm .- mamay

water  Feee-oooeeanay

...............

...............

S R R

...............

Which of the following graph shows the correct volumes of water leftin
containers Q, R and S, after three hours?

M volume of water left (ml) @) Volume of water left {ml)
R S Q R S
(3 Volume of water left (mi) (@ Volume of watér left (ml)

ACS (Junior} P§ Semestral Assessment 2022
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11.  The diagram shows the arrangement of five magnets.

A B ! J
D G H
E F
Which of the following arrangements is not possible?
(1) (2)
c b
H G
A
G
(3) {4)
Al J C D
( j | E F
B] |
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12. Adam used the stroke method to make th iron nail into a temporary magnet as shown.
Ha then placed the temporary magnet near some stesl clips. Only one steel clip was
altracted to the temporary magnet.

iron nail

What should she do fo the temporary magnet so that it can atiract more steel clips?

A Putit over a iame.

B Drop it from a height.

C  Bring it nearer {0 the steel clips.

D Stroke it more times using the North pole of the bar magnet in the same

direction.

(1) Conly

(2) CandDonly
{3} AandBonly
(4) A,BandDonly

ACS {Junior) P5 Semestral Assessment 2022 |
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13.  Peter laballed one end of objects J, K, L and M as X. He brought each end of a magnet
owards end X of ali four objects.

magne{

object

He recorded the interactions in the table as shown.

Object When North pole of the magnet When South pole of the magnet
was brought near end X was brought near end X
J Atiracted Attracted
K No inleraction No interaction
L Altracted Repelled
M Repelled Attracted

Which of the following statement(s) isfare correct?

A Object J is made of aluminium.
8  Objects J, L and M are magnets.
C ObjectKis made of a non-magnetic material.

(1) Conly

(2) AandBonly
(3) Aand Conly
(4 ABandC

14.  Which pars of the body are correctly matched to the human organ systems?

Digestive system | Res piratofy éystem Skeletal sistemﬁ
1 mouth hearf skull |
- '(2) " stomach iungs muscies N
{3) blood vessels nose ribcage
(4) large intestine windpipe backbone

ACS {Junior) P§ Semesiral Assessment 2022

More papers available at www.testpapersfree.com



11

15.  The diagram shows a plant.

Which statement(s) is/are correct?

(1)
(2}
3
(%)

16.  The diagram shows the movement of food and water in aplant.

(M
(2)
@)
(4)

A
? 1 Key:
: Food
S N Water
B [ e |
What are parts A, B, C and D?
A B C D
Fruit Roots Stem Leaves
Roots Stem Leaves "Fruit
Fruit Leaves Stem Roots
Leaves Stem Roots Fruit

A Part X makes food.
Part W contains seeds.

B
C Past Y hoids the plant upright.
D

Part Z takes in water and mineral salis.

Aonly

B and Conly

A, Cand D only
B, C and D only

ACS {Junior) P5 Sernestral Assessment 2022
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17. A potted plant was placed in a glass container and left in the garden. The amount of
carbon dioxide in the glass container was measuned and recorded over 24 hours in the

graph as shown.

Amount of
carbon dioxide
in glass container
{unit)

F 3

—— et o o el e o= -t - A oW m e N e s e R S

- . w o

T R R T R ER L L )

i
!
i
1
'
1
1
]
)
]
1
1
i
3
1

1
1
]
I
]
L]
X

—» Time (1)

et S

24

-

0

Which two parts of the graph show that the plant was carrying out photosynthesis?

(1) Aand B
(2) BandC
(3) CandD
{4) AandD
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18.  The diagram shows the flow of blood in the human body. X and Y represent organs in
the human bady while P, Q, R, 8, Tand U represent the blood vessels in the body.
upper part
of the body
X
P y Q
T U
i
Y
S R
lower part
of the body
Which of the following correctly represents organs X and Y and describes the amount
of axygen and carbon dioxide in the blood of the blood vessals?
X Y Bloodrichin | Bioodrichin
oxygen carbon dioxide
(1) Lungs Heart P,Rand T Q,SandU
(2) Heart Lungs P, SandT Q,Rand U
{3) Lungs Heart P,Rand U Q,Sand T
(4) Heart Lungs Q RandU P.Sand T
18.  The lable lists some information about four celt parts.
Which of the following is correct?
Presentin | Present in
Cell part Function of call part animal plant
. celi? cell?
Controls the movement of substances ‘
(h Cytoplasm in and out of the cell. Yes Yes
Contains chlorophyll which traps light i
(4] Chioroplast 1o meake food. No Yes
— _
Allows the movement of substances
{3) | Cell Membrane within the cell. Yes No
(4) Cell Wall sP;g?:ls the csll and gives it a fixed Yes Yes

ACS (Junior} P5 Semestral Assessment 2022

More papers available at www.testpapersfree.com




BP~366

14

20. Circuits P, Q, R and S are set up using identical balleries and bulbs, which are in
working condition.
il
| [1 |

&
___X®___ R
&

I
k LR

Circuit P Circuit Q Circuii R Circuil S

i

m
it
&

i

Which of the following shows the carrect order of the brightness of bulb X in each circuit,
from the dimmaest to the brightest?

{1 S,R QP
(20 QPSR
3 PQRS
{4 RS,P.AQ

21.  Ariused a syringe to pump 100 cm?of airinto a container with a volume of
250 em?®,

syringe

< 100 cm? of air
— pumped into

- ‘.-:] ‘: _E_ontainer

awr ——4—

250 em? container

After 100 cm?® of air was pumped in, which of the following about the mass and
volume of air in the container is correct?

Mass of air in container Volume of air in container
4 increased increased
{2) increased remained the same
(3) remained the same increased
(4) remained the same remained the sams

ACS (Junior) P5 Semestral Assessment 2022
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22.  Anna used a circuit tester to test a circuit card. She connected points X and Y of the
circuit tester to the metal pins A, B, C, D and E on the circuit card and observed if the

bulb would light up.

e
X Be P
D./ Y
- + c LJ ® E
circuit tester circuit card
She recorded the results in the iable, |
Metal pins Did the bulb
connected light up?
Aand B No
Aand C Yes
Cand D Yes
Dand E _No
Which circuit card did Anna test? |
{1} o {2)
3 T (@
A
Bg )
c o

ACS (Junior} P5 Semeslral Assessment 2022
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Jeffri sels up two circuils using similar electrical components in working condition and
four objects, A, B, C and D, as shown.

Bulb 1 Bulb 1
A TH)
B C
Bulb 2 Bulb 2
L H) NISIE
Bulb 3 Bulb 3
* HK) -
Circuit X Circult Y
The table shows the results of his experiment.
Did the bulbs {ight up?
Bulb 1 Bulb 2 Bulb 3
Circuit X No No Mo
Clreufit Y No Yes Yes
Which ons of the following is correct?
Conductors of Non-conductors of .
eloctricity slectricity Not pessible to tell
{1) A B Cand D
(2) A None B,Cand D
{3} Aand B CandD None
4 AandB C D

ACS {Junior) PS5 Semestral Assessment 2022
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24,  The diagram shows a man walking down a street from Jamp A to famp b Of the four
street lamps along the strest, only one was lighted up. The street iamps were the same
distance apart from each other.

lamp A lamp B tamp C lamp D

q

The graph shows how the length of his shadow changes as he walked fram lamp A to
lamp D.

Length of 1
man’s shadow {m)

—

f : ! i famp.

Based on the graph, which street famp, A, B, G, or D, was lighted up?

{1) A

(2) 8

3) C
.{4) D..

ACS (Junior) P5 Semesiral Assessment 2022
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26.  Ryan set up an experiment using thres identical beakers, each containing a different

liquid as shown. The volume of liquid in each beaker and the intensity of light from the
torches are the same.

torch

beaker

fight sensor -

He used identical light sensors, X, Y and Z, to measure the amount of light that passed
through each beaker of liquid and recorded the readings.

Which is the most likely reading from the fight sensors?

BP~370

Units of light
X ¥ z
(1) 0 200 100
@ 200 | 100 0
3) 0 100 200
(4) 100 200 0
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26.  Susie poured hersalf a glass of water. She then added some Ice cubes and a metal
spoon to the glass of water as shown.

room temperature:; 30°C

Which two statements are incorrect?

(0
(2
3
{4)

A

B
c
D

The glass loses heat to ice cubes.

The ice cubes gain heal from the water.

The water loses heat fo the surrounding air.
The metal spoon gains heat from the ice cubes.

Aand B
BandC
CandD
AandD

27.  Anexperiment was carried out using the two identical set-ups with different volumes of
water as shown. The Bunsen bumers were turned on at the same time to heat the
waler In the beakers until the water reached 100°C.

JL—————— thermomeler

/beaker

————— 300 ml of

150 mi of waler ai room
water at room femperature
temperature ‘

Bunsen burner

Set-up X

Which statement is correct?

{1
2)
{3)
)

Water in both set-ups have the same amount of heat.

Water in both set-ups reached 100°C at the same time.

Water in Set-up X has more heat than the water in Set-up Y.

Water in Set-up X will reach 100°C faster than the water in Set-up Y.

ACS {Junior) PS5 Semesiral Assessment 2022
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28.  The diagram shows a leaf of a plant partially covered with black paper on both sides of

the Ieaf.
stemn
leat

black paper

The plant was then placed in an srea wilh plenty of sunlight and given sufficient water
daily. After five days, the same teaf was tested for starch using iodine solution. lodine
solution changes from brown to blue-black in the presence of starch.

part X part Y part Z

Which part(s) of the leaf would the iodine solution remain brown?

(1 Part X only

(2) Part Y only

(3) Paris X and Z only
(4)  Parts X, Yand Z only

End of Booklet A
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in this booklet.

For questions 29 to 41, write your answers
brackets [ ] at the end of each question or part

The number of marks available is shown in
question.
{44 marks)

Falisha placed 200 cm? of sand into beaker A and poured in 200 cm? of water as
shown.

29.

400 cm®

beaksr with
water and sand

{a) State the property of water that atiowed it o be poured inlo beaker A. 1]

She repeated the experiment by placing 200 cm® of marbles and 200 cm® of water

into beaker B as shown,

400 cm® )

——

teaker with water
and marbles

beaker B

{b) She noticed that the water level in beaker B is lower than that of beaker A.
Explain why. (2}

{Go on to the next page)
SCORE
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30.  Devi conducted an experiment and prepared three identical fruits, A, B and.C.with
different numbers of structure X,

struclure X

She dropped each fruit from the same height, b, in front of a fan as shown. She
measured the distance, d, travelled by each fruit.

Ve
)

A 4

She recorded her resulis in the lable shown.

Fruit Nurmber of structure X Distance (d) travelled by
on the fruit the fruit {cm)
A 5 _ 137
B 3 72
c 1 — 15
{a) What is the aim of Devi's sxperiment? [1]

(b} State an advantage to the young plant when the fruit travels a furlh{er distance
from the parent plant.

(1]

{Goonto the next page)
SCORE |
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{¢) Devithenwanted to find out how the speed of wind affects the distance ihe fruit

travelled.
identify the variables that should be kept the same 1o test this new aim. Place
a fick (') in the correct boxes in the table. 1]
" Keep the
Variables same

(i) | Type of fruit

{ (i) | Wind speed

(iii) | Number of structure X

{iv) | Height that the fruilis droppad

(Goonto the nex! page)
SCORE e

1
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31.  (a) Describe the process of pollination in flowering plants, M

The diagram shows parts A, B and C of the mals reproductive system. Part C
connects parts A and B where sperms can travel through.

A

{b) Which part of the male reproductive system, A, B or C, has the same function
as the anther in a flowsring plant? [1]

To prevent reproduction from taking place, adult males go through a medical
surgery where part C is cut and tied as shown. ‘

part C,
cut and ied

B
(c) Give a reason why reproduction cannot take place after part C has been cut
and tied. 1]
{Go on to the next page)
SCORE
i
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327 (a) State one differance bstween boiling and evaporation of a liquid.

0

Nirdesh heated a beaker of seawater at 27°C. As the water starled boiling, he
placed a tin tray at 18°C above the beaker of waler as shown in the diagram.

liquig X S A A A A A LA tin tray at
18°C
RISy
beaker of
i . seawater
lighted Bunsen tripod stand

burmner

{b) Mirdesh noticed liquid X forming on the underside of the lin tray.
What is liquid X?

(1

{c) Without increasing the heat from the Bunsen burner, suggest what Nirdesh
can do so that liquid X forms at a faster rats on the underside of the Uray.

i1

BP~378

{(Go on 1o the next page)

SCORE
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33.  Hannah placed some ice cubes in a plastic cup. After five minutes, she noticed that
the ice cubes were siill melting. 1

plastic cup

five minutes

ice cubes fater

(a) Name the state(s) of matter present in the cup at the fifth minute. ‘ {11

After two hours, Hannah observed that the ice cubes have completely melted.

l

- water in plastic cup

(b} Without removing the water from the plastic cup, suggest what Hannah could
have dons so that there will be less water in the cup at the end of two hours.
Explain your answer. | 12]

Suggestion:

Explanation;

(Go on lo the nexi page)
SCORE |
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Whilst visiting Swilzeriand during winter, Hannah noticed that a white ‘mist’ formed
whenever she exhaled.

whita ‘mist’

{c) Explain clearly how the white ‘mist’ was formed when Hannah exhaled. 2]

{Go on to the next page)
SCORE

w
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34, Chioe sets up two electromagnets using identical batteries in working condition,
wires and iron bars, P and Q, as shown. A steel nail is freely suspended at an
equal distance between electromagnets X and Y.

[ }
stee!l nail
iron bar P iron bar Q
L
4 / \"
switch P switchQ
Electromagnet X Electromagnet Y

When Chioe closed both switches, P and Q, at the same time, the steel nail moved
fowards iron bar P,

{a) Give a reason why the stesl nail moved towards iron bar P when both 11
swilches P and Q were closed at the same time:

{Goonto tha} next page)
SCORE |
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The diagram shows part of a crane that uses an electromagnet to collect metal
pieces for recycling. |

crane //

slectromagnet

melal pieces

— collection
e— 2K i %‘_‘ .
QC\J“%.\\_\% < point W

(b) Explain how the electromagnet of the crans is used to move the melal pleces
in the sand to the collection point W in the diagram above. 2]

{Go on to the next page}
SCORE
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35. ({(a) State-what digestion is. ' 1

The diagram shows the Human digestive system.

NN

(b) State the part(s) which carry out the following funclions by writing the letters  [1]
P, Q, R, S or T in the boxes provided. ‘

Function Part(s)

(i} | Preduces digestive juice

(i} { Absorbs water from undigested food

{c} Describe what happens to digested food at part 8. o (1

(Goonto th¢ next page)
SCORE
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36. The diagrams show the respiratory systems of a human and a fish.

A thin-walled
structures (air sacs)
covered with many
blood vessels

tiny hair-like
structures covered
with many blood
vessels

Fish respiralory system
(a) Name organs X and Y of the human and fish respiratory system. M
X:
Y:

{b) State how the struclures covered with many blood vessels in the human and

fish respiratory system heip in the absorption of oxygen. )

(c) Describe how oxygen in the environment reaches the blood vesseils of the

human respiratory system. g

BP~384

{Go on to the next page)
SCORE
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37.  Jack's resling heart rate is 60 beats per minute..The graph shows the changes in Jack's
hearl rate as he runs faster on the treadmill.

Heart rate (beats/min)
100 }
80
&0
40

20

0 - Running speed (km/h
2 4 6 8 g speed )

{(a} Explain why Jack’s heart rate increases as his running speed increases, 2]

{b) After running for five minutes, Jack stopped running and sat down to rest for
ten minutes. Complets the line graph below to show the changes in Jack's

heart rate for the next 10 minutes after he stopped running. (1}
Heart rate 0
{beats/min) 120
100
80
60
40
20 o
Time {min)
0 5 10 15
(Go on to the next page)
SCORE ‘
3

ACS {Junior) P5 Semestral Assessment 2022

More papers available at www.testpapersfree.com




14

38, The diagram shows a ciosed circuil. The bulbs and batteries used are in working

condition.
B1
T
B2
(a) How are the bulbs B1 and B2 arranged? M
{(b) State one disadvantage of the amrangement of bulbs in (a). )

(¢) Usingthe same electrical parts and an additional switch, draw a blosed circuit
diagram based on the following conditions:
« B1remains lit all the time
s B2is controlied by the switch [2]

Label bulbs, B1 and B2, in your circuit diagram.

—

(Go on to the next page)

SCORE /

4
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38.  Jack made a simple periscope using a cardboard box and two small mirrors as shown,
The periscope allows him 10 sea the cockatoo while remaining hidden.

cockatoo

Sun

mirror

cardboard box

— Jack's eys
mirror

{a) Jack drew arrows {o represent light rays that enabie him to sse the cockatoo on

{b)

(c)

ACS {Junior) P5 Semestral Assessment 2022

the diagram. However, he drew one of the arrows wrongly. Circle the arrow

which has been drawn wrongly. 1]
State two properlies of light that allow Jack’s periscope {o work. {2
Property 1:
Property 2:

Jack’s classmate, Tessa, told him that light is not matter. Give two reasons

BP-387

why Tessa said so. {1
- Reason 1: .
Reason 2:
{Go on to the next page)
SCORE
4
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40. Tom prepared ihree set-ups, A, B and C, with three identical metal bottles containing
equal volumes of cold water at 5°C as shown. Set-ups B and C were covered with material
X and material Y.
it l
: thermometer
!r“ thermometer material Y
: material X
§Q stopper {
/metal bottie :| _;
: i cold water
----- 1} R RS at 5°C gl |y
— cold water
5 tal
BeRsse s at 5°C e e
Set-up A Set-up B Set-up C
{control set-up)
Tom recorded the temperature of the water in set-ups B8 and C over eight hours in the graph
as shown.
Temperature 4
°C)
Set-up C
Set-up B
5 % —p Time {h)
8
(a) Oraw a line in the graph above to show the change in the temperature of the
cold water in set-up A over eight hours. !
{b) Compare the rale of heat gain between the waler in sel-up B and set-up C. f1]
(c) Which material, X or Y, is more suitable for making a container lo keep food
-~ “warm for a longer period of time? Give a reason. {1}
(d) Whalis the purpose of the control set-up? M
{Go on to the next page)
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Sally set up an experiment to find out how the amount of carbon dioxide affects the rate of
photosynthesis in an aquatic plant as shown,

She added a spoonful of baking soda to the water in the test tube lo increase the amount
of dissolved carbon dioxide in the waler.

baking
soda

aquatic

After adding the baking soda, she counted the number of bubbles produced by the aguatic
plant in five minutes. She repeated the experiment by adding different number of
spoonfuls of baking soda to the water and recorded the resuits in the table.

Number of spoonfuls of baking '
soda added to the waler ! 2 3 4 5 6 7
Number of bubbles producad by .
the aquatic plant 2 3 5 8 12} 12§ 12

{a) What is the relationship beiween ihe number of spoonfuls of baking soda
added lo the waler and the number of bubbles producad by the aguatic plant? 14

{b} Sally kept the distance between the lamp and the aquatic plant the same
throughout ths experiment. Explain why this ensures a fair test. 1

End of Paper SCORE
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SCHOOL : ANGLO-CHINESE SCHOOL (JUNIOR)

LEVEL PRIMARY 5

SUBJECT : SCIENCE

PAPER 1 2022 SA2

BOOKLET A

S Qe Q3 Q4 | Q5 Qe Q7 . Q8 Q9 Q10

2 2 1 4 2 4 2 1 2 4

st ] 12 ] Q13 Q14 1...Q15 15 -Q16 Q17 Q18 | Q19 |- Q20
4 2 1 4 3 1 2 3 2 2

Q211 Q22 ] Q23 | Q24 |- Q25 - |- Q26 | Q27 Q28
1 3 4 3 4 3 4 2

BOOKLET B

Q29a) | Water has no definite shape.

Q28b) | The air spaces between the marbles in beaker B are bigger compared to the air spaces
between the sand particles in beaker A. Thus, more water fill up the bigger air spaces in beaker
B and the water level in beaker B is lower than that of beaker A,

Q30a) | To find out how the number of structure X on the fruit affects the distance travelled by the fruit.

Q30b) | The young piant would not need to compete with its parent piant for sunlight, water, nutrients
and space.

Q30c) | Type of fruit
Number of structure X
Height that the fruit is dropped

Q31a) | Pollination is the transfer of polien grains from the anther to the stigma.

Q3tb) | A

Q31¢) | When part C has been cut and tied, the sperms produced by A are unable to travel up part C to
be released through B. '

Q32a) | Boiling oceurs at a fixed temperature but evaporation occurs at any temperature.

Q32b) | Water droplets

Q32c) | Use a cooler tin tray / tin tray with a lower temperature.

Q33a) | Solid, liquid, gas

Q33b) | Suggestion: Use a fan to blow at the water in the cup. . -
Explanation:. The wind, from the fan would increase the rate of evaporation of water in the cup.

Q33c) | Warm water vapour exhaled by Hannah came into contact with the coaler surrounding air, lost
heat and condensed into water droplets which appeared as white ‘mist’.

Q34a) | There are more coils of wires around iron bar P than Q. When both switches were closed at the
same time, iron bar P became a stronger electromagnet / had more magnetic strength than Q.
Thus, the steel nail would be attracted to iron bar P more than Q and moved towards iron bar
P.

Q34b) | When the switch is closed, the circuit is a closed Gircuit. The electromagnet would be
magnetised to attract the metal pieces from the sand and the crane would bring it to collection
point W. When the crane reaches collection point W, the switch would be opened to form an
open circuit. The electromagnet would be demagnetized and not atiract the metal pieces
anymore, allowing the metal pieces to drop at collection point W.

More papers available at www.testpapersfree.com

BP-391




Q35a) | Digestion is the process of breaking down food into simpler substances.

Q35b) {() P.R, S
(i) T

Q35¢) | Digested food would be absorbed into the blood through the walls of part S.

Q36a) | X: Lungs
Y: Gills

Q36b) | There would be increased surface area of contact between the blood and oxygen to increase
the rate of absorption of oxygen.

Q36¢) | Air in the surrounding enters the nose and into the lungs where oxygen is absorbed into the
blood.

Q37a) | When Jack’s running speed increases, his body needs more energy. His heart would pump
blood faster to transport more oxygen and digested food to other parts of his body for a faster
rate of respiration to release more energy.

Q37b) Heari rale
(beats/min) 120

100
80 /
€0
40
20
o 5 10 15

Q38a) | They are arranged in series.

Q38b) | f one bulb fuses, the other bulb would not light up.

Q38c) I_

B\
@2 (B1 and B2 must be arranged in parallel)
Q39a) | Circle the arrow pointing towards the Sun.
Q39b) | Light travels in a straight line.
Light can be reflected.
Q39c) | Light does not occupy space.
Light has no mass.
Q40a) | Temperature %
°C)
Set-up A
/ Set-up C
//’— Set-up B
_—-——/
5§ e -+ Time (h)
8
Q40b) | The rate of heat gain in set-up C is faster than in set-up B
Q40c) | X. Since the water in Set-up B gains heat slower than Set-up C, X is a poorer conductor of heat

than Y and can keep food warm longer.
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Q40d>»

To compare and confirm that the rate which the water in the containers gain heat is only
affected by the type of material that covers the container.

Q41ay

When the number of spoonfuls of baking soda added to the water increases from 1 to 5, the
number of bubbles produced by the aquatic plant increases. When the number of baking soda
added to the water increases from 5 to 7, the number of bubbles produced by the aquatic plant
remains the same.

Q41b)

This is to ensure that only the number of spoonfuls of baking soda added to the water affects
the number of bubbles produced by the aquatic plant.
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